
ITEM No. DESCRIPTION  PRICE ORDER

10314 2x72mm Hex Shafts *10 90.00

94392 850 Ball Bearing Set *2 280.00

94801 5mm Pipe For Db1 Alu Roll *4 50.00

94809 2x38mm Threaded Shaft *4 100.00

95608 Adjust Mass Damper 2.5g*6 Sil 170.00

50477 24/25 T AV Pinion Gear 230.00

50568 M-Chassis Radial Tire *2 190.00

50797 5mm Short Adjuster [8pcs.] 70.00

50808 TG10 Rear Wheel Axle*2 250.00

50810 Racing Semi-Slick Tires*2 290.00

50883 39mm Drive Shaft Set 290.00

51005 TT-01 P Parts [Servo Horn] 170.00

51226 Urethane Bumper L (TT-01,TGS) 130.00

51393 M-05 F Parts (Upright) 190.00

51528 TT-02 B Parts (Sus.Arm) 330.00

51528 TT-02 B Parts (Sus.Arm) 330.00

51528 TT-02 B Parts (Sus.Arm) 330.00

51532 TT-02 Lower Deck 190.00

51565 TRF419 Alu Diff Joint *2 450.00

51633 3x16mm Steel CS HexHead Screws*10 60.00

51642 TRF420 F Direct Pulley (37T) 290.00

51669 TA08 D Parts (Sus. Arms) *2 290.00

51671 TA08 Rear Belt (101T) 200.00

42216 44mm W Cardan Joint Shaft *2 2,100.00

42248 Alu. Drct. Servo Horn Tam/Fut 380.00

42293 TRF Damper L Dia Spring SS *2 110.00

42323 Sh Ball Nuts for TRF Damper *8 300.00

42327 3x6mm HG Alu HH Screw Blu *5 260.00

42329 3x8mm HG Alu HH Screw Blu *5 280.00

42351 TRF420 Center Pulley 660.00

42352 Clamp Type Alu Hubs NarTrd *4 590.00

53141 Lightweight King Pins 190.00

53156 Hard Inner Sponge 100.00

53160 4mm Flange Lock Nut Red 280.00

53342 TL01 Speed-Tuned Gear Set 290.00

53526 3x23mm Titanium Turnbuckle *2 500.00

53527 3x32mm Titanium Turnbuckle*2 630.00

53539 O 5.5mm Aluminum Spacer Set 300.00

Coming Soon  On 29 September 2021

1/32 MINI SERIES

R/C SPARE PARTS

R/C HOP UP OPTION



53539 O 5.5mm Aluminum Spacer Set 300.00

53569 Clamp Type Alu. Wheel Hub 6mm 750.00

53586 O  4mm Shin Set *10x3 Types 230.00

53587 O  5mm Shin Set *10x3 Types 210.00

53590 Cup Joint For TB01 Front One-Way 280.00

53662 TT-01 Turnbuckle Tie-Rod Set 270.00

53683 Urethane Bumper M Blue/TT01,TGS 150.00

53766 3x8mm Socket Screw / Blue*5 230.00

53767 3x10mm Socket Screw / Blue*5 230.00

53790 Cup Joint For Universal Shaft 400.00

53791 DF02 Universal Shaft 1,100.00

53792 Universal Shaft [TT-01,TA04] 1,100.00

53792 Universal Shaft [TT-01,TA04] 1,100.00

53881 Large Dish Wheels Rear 62/35 240.00

53928 Short Reversible Sus. Arm 400.00

53959 Mesh Wheel/D.tire 2*[26mm/+2] 530.00

54025 T-01 TYPE-E Ball Bearing Set 800.00

54026 TT-01 Alu. Prop. Joint & Shaft 500.00

54228 FC 06 Module Pinion 26T,27T 300.00

54229 FC 06 Module Pinion 28T,29T 300.00

54247 3x18mm Alu. Turnbuckle Shaft*2 170.00

54394 WR-02 Assem. Univ. Shaft *2 1,030.00

54500 TT-02 High Speed Gear Set 68T 350.00

54501 TT-02 Aluminum Propeller Shaft 220.00

54502 TT-02 Aluminum Propeller Joint 250.00

54559 TT-02 Low Fric Sus. Ball *4 220.00

54590 M-Chassis Inner Sponge SH *4 100.00

54598 Rock Block Tire Soft *2 CC-01 370.00

54646 Carbon Pattern Sticker 120.00

54752 TT-02 Steering Upgrade Set 1,800.00

54752 TT-02 Steering Upgrade Set 1,800.00

54782 TC Carbon Crossmember Front 320.00

54863 Alu HT Servo Saver Cap 140.00

54863 Alu HT Servo Saver Cap 140.00

54874 TT-02 Adjustable Upper Arm Set 580.00

54875 TT-02 Oil Gear Diff Unit 850.00

54883 Alu Adjustable SepSusMt (XB) 640.00

54884 Alu Adjustable SepSusMt (A) 640.00

54885 Alu Adjustable SepSusMt (E) 640.00

54886 TRF419 Suspension Upgrade Set 2,000.00

54887 TRF420 Toe Control RearSus Set 3,300.00

54906 M-08 Concept Alu. Shaft Set 350.00

54907 M-08 Concept Alu F SusMt 0deg 490.00

54921 Rein Swing Shaft Caps FR *2 110.00



54934 TRF420 Steel F Direct Cups *2 430.00

54944 CC-02 Alu. Arm Pivots A, B 810.00

54949 TA07 Adjustable Ackerman Set 900.00


